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(9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
1) 3255 ÷ 15 × 4 + 25 - 64 À¶m 4 Mo ‘yë¶ {H$Vr Amho?

1) 625 2) 637 3) 650 4) 683
1) The value of 3255 ÷ 15 × 4 + 25 - 64 of 4 is :

1) 625 2) 637 3) 650 4) 683

2) EH$m ‘mUgmZo é. 17,30,000 Zm EH$ âb°Q> IaoXr Ho$bm. âb°Q>Mo a§JH$m‘ Am{U XþéñVrgmR>r é. 40,000 IM© Ho$bo.
Oa Ë¶mZo âb°Q> é. 16,10,700 Zm {dH$bm, Va Ë¶mÀ¶m VmoQ>çmMr Q> o̧$dmar {H$Vr Amho?
1)  9.0% 2)  9.5% 3)  8.8% 4) 8.3%

2) A person purchased a flat for Rs. 17,30,000. He spent Rs. 40,000 on its paintings and repair. If he

sold it for Rs. 16,10,700, then his loss percentage is :

1) 9.0% 2) 9.5% 3) 8.8% 4) 8.3%

3) gmoS>dm …

1) 100 2) 1 3) 10 4) 1/100
3) Solve :

 

1) 100 2) 1 3) 10 4) 1/100

CÎmao : (9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$

1-2 2-1 3-1


